AGREEMENT BETWEEN OWNER AND CONTRACTOR FOR CONSTRUCTION CONTRACT (STIPULATED PRICE)

THIS A	GREE	MENT is by and between	The City of Mt. Juliet	_ ("Owner") and			
Jarrett Builders		Jarrett Builders		("Contractor").			
Owner	and (Contractor hereby agree as follo	ws:				
ARTICL	E 1 –	WORK					
1.01		tractor shall complete all Work rk is generally described as follow	as specified or indicated in the Contract ws:	Documents. The			
ARTICL	E 2 –	THE PROJECT					
2.01	follo	The Project, of which the Work under the Contract Documents is a part, is generally described as follows: The construction of the wingwalls on Belinda Pkwy. over Stoners Ck. and Creekview Dr. over Stoners Ck. as detailed in the attached plan set.					
ARTICL	E 3 –	ENGINEER					
3.01	The	Project has been designed by	Gresham Smith				
3.02	repr	ne Owner has retained <u>Gresham Smith</u> ("Engineer") to act as Owner's presentative, assume all duties and responsibilities, and have the rights and authority assigned Engineer in the Contract Documents in connection with the completion of the Work in cordance with the Contract Documents.					
ARTICL	E 4 –	CONTRACT TIMES					
4.01	Tim	e of the Essence	of the Essence				
	A.		f any, Substantial Completion, and completi ne Contract Documents are of the essence o				
4.02	Con	tract Times: Days	mes: Days				
	A.	Times commence to run as p completed and ready for final p	completed within <u>180</u> days after the date w rovided in Paragraph 4.01 of the General payment in accordance with Paragraph 15.0 the date when the Contract Times commen	Conditions, and 06 of the General			
4.03	Liqu	idated Damages					
	A.	above and that Owner will suf and Milestones not achieved v extensions thereof allowed in a	ize that time is of the essence as stated in ffer financial and other losses if the Work within the times specified in Paragraph 4.02 accordance with the Contract. The parties a s involved in proving in a legal or arbitratio	is not completed 2 above, plus any Iso recognize the			

actual loss suffered by Owner if the Work is not completed on time. Accordingly, instead of

requiring any such proof, Owner and Contractor agree that as liquidated damages for delay (but not as a penalty):

1. Substantial Completion: Contractor shall pay Owner \$250 for each day that expires after the time (as duly adjusted pursuant to the Contract) specified in Paragraph 4.02.A above for Substantial Completion until the Work is substantially complete.

ARTICLE 5 – CONTRACT PRICE

- 5.01 Owner shall pay Contractor for completion of the Work in accordance with the Contract Documents the amounts that follow, subject to adjustment under the Contract:
 - A. For all Work, at the prices stated in Contractor's Bid Schedule, attached hereto as an exhibit, the sum of \$\\$423,854.00

ARTICLE 6 – PAYMENT PROCEDURES

- 6.01 Submittal and Processing of Payments
 - A. Contractor shall submit Applications for Payment in accordance with Article 15 of the General Conditions. Applications for Payment will be processed by Engineer as provided in the General Conditions.

6.02 Progress Payments

- A. Owner shall make progress payments on account of the Contract Price on the basis of Contractor's Applications for Payment on or about the 25th day of each month during performance of the Work as provided in Paragraph 6.02.A.1 below, provided that such Applications for Payment have been submitted in a timely manner and otherwise meet the requirements of the Contract. All such payments will be measured by the Schedule of Values established as provided in the General Conditions (and in the case of Unit Price Work based on the number of units completed) or, in the event there is no Schedule of Values, as provided elsewhere in the Contract.
 - Prior to Substantial Completion, progress payments will be made in an amount equal
 to the percentage indicated below but, in each case, less the aggregate of payments
 previously made and less such amounts as Owner may withhold, including but not
 limited to liquidated damages, in accordance with the Contract
 - a. Percent of Work completed

6.03 Final Payment

A. Upon final completion and acceptance of the Work in accordance with Paragraph 15.06 of the General Conditions, Owner shall pay the remainder of the Contract Price as recommended by Engineer as provided in said Paragraph 15.06.

6.04 Consent of Surety

A. Owner will not make final payment at Substantial Completion or any other time, unless Contractor submits written consent of the surety to such payment, return, or release.

ARTICLE 7 – CONTRACTOR'S REPRESENTATIONS

- 7.01 In order to induce Owner to enter into this Contract, Contractor makes the following representations:
 - A. Contractor has examined and carefully studied the Contract Documents, and any data and reference items identified in the Contract Documents.
 - B. Contractor has visited the Site, conducted a thorough, alert visual examination of the Site and adjacent areas, and become familiar with and is satisfied as to the general, local, and Site conditions that may affect cost, progress, and performance of the Work.
 - C. Contractor is familiar with and is satisfied as to all Laws and Regulations that may affect cost, progress, and performance of the Work.
 - D. Contractor has carefully studied all: (1) reports of explorations and tests of subsurface conditions at or adjacent to the Site and all drawings of physical conditions relating to existing surface or subsurface structures at the Site that have been identified in the Supplementary Conditions, especially with respect to Technical Data in such reports and drawings, and (2) reports and drawings relating to Hazardous Environmental Conditions, if any, at or adjacent to the Site that have been identified in the Supplementary Conditions, especially with respect to Technical Data in such reports and drawings.
 - E. Contractor has considered the information known to Contractor itself; information commonly known to contractors doing business in the locality of the Site; information and observations obtained from visits to the Site; the Contract Documents; and the Site-related reports and drawings identified in the Contract Documents, with respect to the effect of such information, observations, and documents on (1) the cost, progress, and performance of the Work; (2) the means, methods, techniques, sequences, and procedures of construction to be employed by Contractor; and (3) Contractor's safety precautions and programs.
 - F. Based on the information and observations referred to in the preceding paragraph, Contractor agrees that no further examinations, investigations, explorations, tests, studies, or data are necessary for the performance of the Work at the Contract Price, within the Contract Times, and in accordance with the other terms and conditions of the Contract.
 - G. Contractor is aware of the general nature of work to be performed by Owner and others at the Site that relates to the Work as indicated in the Contract Documents.
 - H. Contractor has given Engineer written notice of all conflicts, errors, ambiguities, or discrepancies that Contractor has discovered in the Contract Documents, and the written resolution thereof by Engineer is acceptable to Contractor.
 - I. The Contract Documents are generally sufficient to indicate and convey understanding of all terms and conditions for performance and furnishing of the Work.
 - J. Contractor's entry into this Contract constitutes an incontrovertible representation by Contractor that without exception all prices in the Agreement are premised upon performing and furnishing the Work required by the Contract Documents.

ARTICLE 8 – CONTRACT DOCUMENTS

8.01 Contents

A. The Contract Documents consist of the following:

- 1. This Agreement.
- 2. Performance bond.
- 3. Payment bond.
- 4. General Conditions.
- 5. Supplementary Conditions.
- 6. Specifications as listed in the table of contents of the Project Manual.
- 7. The Tennessee Department of Transportation Standard Specifications for Road and Bridge Construction January 1, 2021.
- 8. Supplemental Conditions & Specifications as included in contract document.
- 9. Drawings (not attached but incorporated by reference) consisting of 9 sheets with each sheet bearing the general title.
- 10. The Tennessee Department of Transportation Standard Drawings located at https://www.tn.gov/tdot/roadway-design/standard-drawings-library.html.
- 11. Addenda (numbers ____ to ____).
- 12. Exhibits to this Agreement (enumerated as follows):
 - a. Contractor's Bid (pages 1 to 38, inclusive).
 - b. Contractor Bid Bonds
- 13. The following which may be delivered or issued on or after the Effective Date of the Contract and are not attached hereto:
 - a. Notice to Proceed.
 - b. Work Change Directives.
 - c. Change Orders.
 - d. Field Orders.
 - e. Warranty Bond, if any.
- B. The documents listed in Paragraph 8.01.A are attached to this Agreement (except as expressly noted otherwise above).
- C. There are no Contract Documents other than those listed above in this Article 8.
- D. The Contract Documents may only be amended, modified, or supplemented as provided in this Contract.

ARTICLE 9 - MISCELLANEOUS

9.01 *Terms*

A. Terms used in this Agreement will have the meanings stated in the General Conditions and the Supplementary Conditions.

9.02 Assignment of Contract

A. Unless expressly agreed to elsewhere in the Contract, no assignment by a party hereto of any rights under or interests in the Contract will be binding on another party hereto without the written consent of the party sought to be bound; and, specifically but without limitation, money that may become due and money that is due may not be assigned without such consent (except to the extent that the effect of this restriction may be limited by law), and unless specifically stated to the contrary in any written consent to an assignment, no assignment will release or discharge the assignor from any duty or responsibility under the Contract Documents.

9.03 Successors and Assigns

A. Owner and Contractor each binds itself, its successors, assigns, and legal representatives to the other party hereto, its successors, assigns, and legal representatives in respect to all covenants, agreements, and obligations contained in the Contract Documents.

9.04 Severability

A. Any provision or part of the Contract Documents held to be void or unenforceable under any Law or Regulation shall be deemed stricken, and all remaining provisions shall continue to be valid and binding upon Owner and Contractor, who agree that the Contract Documents shall be reformed to replace such stricken provision or part thereof with a valid and enforceable provision that comes as close as possible to expressing the intention of the stricken provision.

9.05 Contractor's Certifications

- A. Contractor certifies that it has not engaged in corrupt, fraudulent, collusive, or coercive practices in competing for or in executing the Contract. For the purposes of this Paragraph 10.05:
 - "corrupt practice" means the offering, giving, receiving, or soliciting of anything of value likely to influence the action of a public official in the bidding process or in the Contract execution;
 - 2. "fraudulent practice" means an intentional misrepresentation of facts made (a) to influence the bidding process or the execution of the Contract to the detriment of Owner, (b) to establish Bid or Contract prices at artificial non-competitive levels, or (c) to deprive Owner of the benefits of free and open competition;
 - "collusive practice" means a scheme or arrangement between two or more Bidders, with or without the knowledge of Owner, a purpose of which is to establish Bid prices at artificial, non-competitive levels; and
 - "coercive practice" means harming or threatening to harm, directly or indirectly, persons or their property to influence their participation in the bidding process or affect the execution of the Contract.

9.06 Other Provisions

A. Owner stipulates that if the General Conditions that are made a part of this Contract are based on EJCDC® C-700, Standard General Conditions for the Construction Contract, published by the Engineers Joint Contract Documents Committee®, and if Owner is the party that has furnished said General Conditions, then Owner has plainly shown all modifications to the standard wording of such published document to the Contractor, through a process such as highlighting or "track changes" (redline/strikeout), or in the Supplementary Conditions.

IN WITNESS WHEREOF, Owner and Contractor have	signed this Agreement.
This Agreement will be effective on	(which is the Effective Date of the Contract).
OWNER:	CONTRACTOR:
Ву:	Ву:
Title:	Title:
	(If Contractor is a corporation, a partnership, or a joint venture, attach evidence of authority to sign.)
Attest:	Attest:
Title:	Title:
Address for giving notices:	Address for giving notices:
	License No.: (where applicable)
(If Owner is a corporation, attach evidence of authority to sign. If Owner is a public body, attach evidence of authority to sign and resolution or other documents	NOTE TO USER: Use in those states or other jurisdictions where applicable or required.

authorizing execution of this Agreement.)

ITEM NO.	HEDULE - BELINDA PKWY. & CREEKVIEW DESCRIPTION	UNIT	QUANTITIES	UNIT PRICE	TOTAL PRICE
105-01	CONSTRUCTION STAKES, LINES AND GRADES	LS	2	\$5,400.00	10,800.00
202-04.01	REMOVAL OF STRUCTURES	LS	2	\$57,100.00	\$ 114,200.00
209-09.01	SANDBAGS	BAG	280	\$ 32.00	\$8,960.00
209-09.04	SEDIMENT FILTER BAG (15'X10')	EACH	3	\$31.00	593,000.00
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D	TON	26	\$ 133.00	\$ 3,458.00
303-01.01	GRANULAR BACKFILL (ROADWAY)	TON	143	\$ 270.00	538,610.00
307-01.08	ASPHALT CONCRETE MIX (PG64-22) (BPMB- HM) GRADING B-M2	TON	11	\$1,640.00	\$18,040.00
402-01	BITUMINOUS MATERIAL FOR PRIME COAT (PC)	TON	0.2	\$4,400.00	\$80,00
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)	TON	0.2	\$4,400.00	5g80.00
407-02.05	SAW CUTTING ASPHALT PAVEMENT	L.F.	120	\$12.00	51,440.00
411-01.10	ACS MIX (PG64-22) GRADING D	TON	5	\$3,450.00	\$17,250.00
604-01.01	CLASS A CONCRETE (ROADWAY)	C.Y.	19	53,060.00	\$58,140.00
604-01.02	STEEL BAR REINFORCEMENT (ROADWAY)	LB	2608	\$ 6.00	\$ 15,648.00
604-10.05	CONCRETE REPAIRS	S.F.	20	1,100.00	\$22,000.00
604-12.15	DRILL & GROUT STEEL BARS	EACH	58	\$ 255.00	\$ 14,790.00
706-02.01	GUARDRAIL REMOVED AND RESET	L.F.	22	اما ۱۶۰۵۵	\$ 13,530.00
709-05.08	MACHINED RIP-RAP (CLASS B)	TON	21	# 360.00	\$7,560.00
710-09.01	6" PERFORATED PIPE WITH VERTICAL DRAIN SYSTEM	L.F.	51	\$ 125.00	\$6,375.00
712-01	TRAFFIC CONTROL	LS	2	\$35,600.00	\$ 71,200.00

GRAND TOTAL BID = \$516,761.

\$423,854.00

\$93.00

ACKNOWLEDGE RECEIPT OF ADDENDUM BY INITIALING

Four hundred twenty-three thousand eight hundred fifty-four